3. The table shows the number of pages Garrett " Time | Pages

' has left to read after a certain number of . (min), x | left,y

minutes. The points lie on a line. Find the T T

slope of the line. 3 5

Choose any two points from the table to find J = ¢ 6

the changes in the x- and y-values. ‘f

.
i
slope = chango.ny Definition of slope

change in X

e 93__._:112 Use the points (1, 12) and (3, g] P'OKI m i

-3 3
e e e q j
=0 or 5 implify,

To check, choose two different points from the table’%lnd 5 ( 7 2

the slope. (61

hange In y
Check slope = =
ﬂcgajg: In x @ Pl\ﬂd- Y W(/V
~ 7-5
—3 3 U
2 2
71 5

( Got I-]-? Do these problems to find out.

} Find the slope of each line.
' b.

Y]] C.| x |—-6|—-2] 21| 6 |
/ _,2,"’

Expressmn*—:. and Equ-ltinns

Slope

In linear relationships, ne

matter which two points

j ou choose, the slope, or
ate of change, of the line

is always constant.

Words The slope m of a line passing through
points (x4, ¥4) and (x,, y,) is the ratio
of the difference in the y-coordinates
to the corresponding difference in the
x-coordinates.

Yoa =

Symbols m= e

Y1
Xy where X, # X4

.

S it does not matter which point you define as (x4, ¥4) and (x,, ¥5).
_9 However the coordinates of both points must be used in

the same order. —— —
— -
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| (Example

Using the Slope Formula

To check Example , let | 4. Find the slope of the line that passes Tt
(g y1) = (=4 3) and | through R(1, 2), S(—4, 3). 2__3 —St-—j_ 3)
{"1! }'1) = (1, 2). Then find the | Yo — " ..- ==

3-2 Xy Y }—“2

— EET—F L4 L+ -"‘.'
slope. .J m X5 — Xq Slope mrmul 5 . )

== (g, ¥5) = (—4.3)
m= A ur@ Simplhify.
_5 ¢

L 601‘11"? Du these prublems to f[nd nut

e it e S W e

L

o) d. A(2, 2), B(S-(S} e. J( 'ﬁk 4), K(—3, —2)

I
f};.m,,
0
7

Y 5-'2,___. o oS

-

2 HURAD] i 3 x|o|1]2
1

.‘.j = A
i Y0 P
7/ auE " (2,9) e

Fe’ Yourself! l
nd

Find the slope of each Iine4 [Examptﬁrz and 3)

Find the slope of the line that passes through each pair

points. (Example 4)
4, A(—3, —2), B(5, 4) ___%_ 5. EC(HB,Z). F(3, —1)

AQQ -ﬂ\e@

—_— — —_ "":'"';"" How well do you understa
-3- 7 }Z ’I'r Y’x #(0 Slape? Clrcle the image that
E app]:es‘
6. &) t/—j = @ ?
. €=} Building on the Essential Question In any linear Nt |
relationship, explain why the slope is always the same. Clear.  Somewhat Not So

Clear Clear

= fm—

A, i T R i For more help, go online to Tutor
TR - DS = access a Personal Tutor. _i




